Probability (ATReT) Basics:

Probability tells the chances of happening of an event or how
much probable to happen an event is.

total nuber of favourable outcomes

P(event) = total number of possible outcomes
P(event) = 1 !- ﬁ '
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\. What is the probability of
getting a number not greater
than 4 when a dice is rolled?
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2 . Adice is thrown. What is the

probability that the number
shown on the dice is
divisible by 3?
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2. A letter is randomly taken

from English alphabets. What
is the probability that the
letter selected is %m
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Y. What is the probability for

selecting a prime number from
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@@7 John draws a card from a pack of cards. What is the

26 <0(§) probability that the card drawn is afcard of black suit?)
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6. One card is randomly drawn from a pack of 52 cards.

What is the probability that the card drawn is
52 gdl &Y TF AEH A ¥ TFH AT e
T ¥ SHAY FAT GRSaT & BF Serem g
TH BH F1S (AW el 94T §)?
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7. A card is randomly drawn from a pack
of 52 cards. What is the probability
gettinglan ace or king or queen?
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. Tickets numbered 1 to 100 are
mixed up and then a ticket is
drawn at random. What is the
probability that the ticket
drawn has a number which is a
lnMﬁmeof3or5?)
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9. One ball is picked up randomly
from a bag containing 8 yellow, 7
blue and 6 black balls. What is
the probability that it i@her

ellow nor black?/
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l/\/ . A box contains 5 red, 4 green and 3
white ballsEach ball is of different

?{ snze.))__i red ball is chosen at
random what is the probability

that it is the smallest red ball?
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Some important points:

Sure/certain event (Ff3 ge) P@W): [
Impossible event (3HHT e) P(g—y},—'yﬁ)”/o
ForanyeventE, 0 <P(E)<1
ForanyeventE, P(E) =1 — PgE’_) where E and E' are
complementary events([¥x® geu).
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- ?@w? an even mo- (2,46)

R = %ﬂj'} am odlel no- Q)%,S)

P+ p(R)= 1

| P(A)= I-p(B)
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Some important sample spaces(¥fdg=l IafP):
TH,TT} D

. +
Two coins tossed: {HH,HT,TH,T 5
Three coins tossed: {HHH, THH,HTH, HHT, HTT, THT,TTH, TTT}
Two dice rolled: - ' - ' ' ’ ' '

2 ((1,1),(1,2), (1,3), (1, 4), (3,5), (1, 6),)
1 Coin- (2,1), (2,2),(2,3),(2,4), (2,5), (2, 6),
Gotn {H'Tg 13,1),(3,2),(3,3), (3, 4), (3,5), (3, 6),
j ) - - (41 1)! (4: 2)1 (41 3): (41 4); (4; 5); (41 6):
= {2 s, (5, 1), (5, 2), (5, 3), (5, 4), (5, 5), (5, 6),
QCgin= C&‘ G \(6, 1), (6, 2), (6, 3), (6,4), (6, 5), (6, 6)

| C'XZ‘*@ Co D H1,H2, W3 HY HS H4
3win= 2x2 ¥x2=8 2x 6= _|_|l T2, - Head ®m)

Tail (uc)
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(1. A die is rolled twice what is the
probability of getting a/sum equal to 92,
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[2. Two dice are rolled together.

2, %, 6- 7 ” X What is the probability of getting
S their sum as a prime number?
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Rule of addition and multlpllcatlon°

Al s
* For n;\utually exclusive events A and B,
oY /’_\

P(AUB) = P(Aor B) = P(A) + P(B)

« For any events 4 and B,

P(ANB) = P(Aand B) = P(A) x P(B)

Mutually exclusive event (RUR 3UdSl He-TY)
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I5 . When tossing two coins once,
what is the probability of
heads on both the coins?
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I4. 5 coins are tossed together.
What is the probability of
gettingfexactly 2 heads??
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5. :
]56 |S. There are_15 boys and 10 girls

in a class. If students
are selected at random, what
is the probability that 1 girl

and 2 boys are selected?
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6 . A bag contains-4 black, 5 yellow

and 6 green baIIs.aIIs
are drawn at random from the
bag. What is the probability
that all of them are
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